—

W N

TH25EE BEMRKPSRTASHAS

B B

= 5

HERR

BFEE 3 — 1M B
BEE 3 —-18 B
BFE3 -1 8 H
Bl B3 —18 E
Bl B3 —1% H#
B E3—-—2%8 H#
DEEE OB K
QR BE O #

E6L 2 F— LAVRB TV MEH

£ £E3-0% ¥
B E 3 — O ENEH
£ E£3 -0 HIAE
E F 3 — 2 ENER
E F3—2 FIE
ERFEES — 1 FIIFE
DE £ Q% #
QEWREE @ A

LI 2 F— LAVREE TV MES

TR25F12ATH(L)
BEANTFr—\—IBEREESAY—R

EREH 3 — 1 db K
EIMTER 3 — 0 #MIldt
ENREHR 3 — 15 A
i & 3 — o0 #Midt
*t E3-28 &
Bt s -2 &
@ EwmFEHE Q@ db K
@#NIE @7 &

E6L 2 F— LAVRBE TV MEH

W E¥3-0E&E M
H OE 3 — 0 kAR
W E¥3 -0 H
E B3 -1 %hE
E M3—-—21% H
dHhE 3 -0 H
O ¥ QK& M
@khE @ H

LI 2 F— LAVREE TV MER

B m3—2if B
A m3—-—0Z=4%H
A ®m 3 — 1 8
W B3 -—2=~H
OB 3 — 2 #ImE
=48 3 — 0 B
OB B @i B
® =4y @ #IIHAE

E6L 2 F— LAVRBE TV MEH

=AK 3 —0 # B
=AKR 3 —-05 #
=R 3 —-1%F #E
# BH3-—-—25 #
W BH3-—2F B
5E #3-2F E
®©=AR QO H
@5 # @F &

LI 2 F— LAVREE TV MER

ZFDER

B E3—2 M I
¥ OB 3 — 0 EEm
$# E3 -0 K E
# I 3 — 0 ZHEMH
## I 3—0 K Ik
BAFHK 3 — 0 K K
OH B O I
@ z@EM\E @ K K

L6 2 F—LAVRESM-TAVMEH

£ lR3—1 B #
£ B 3 — O EMEE
£ R 3 —0 #ARE
B E 3 — 1 ENES
B 23 -0 ®BAE
EWMEE3 — 0 BARE
O KR @@ E =
QENREA @ kAR

B2 F—LAVRBE-FAVMER

& 3—2 B & ENESH3—0 M Bl E M 3—2 F @™ 1 B 3—0 B ¥
£ E3—0 M I i ¥a3—248 E =AE3—1 1 E & kK 3—0 B &
E%& 3 —1 EiES H FE 3—0E M #H B3—2 & E Z IR 3—0 =AHR
BFEE 3 -1 H B ©H B 3—-—2 8 K

& 3 —1 # B ZE WR3—0%#H B

ERES 3 —0 B [ ZAR 3—2 & E

=AR 3 — 0 EWRAEY £ £E3—-—0E M

2 #3—-0# H M 3—0%F *# W E3—2 % I B AL 3—1 4 E
B m3—2 % & ® &®¥3—-—1H K

W E 3—-1 /8 & 2 #Z23—2KH B

IEfL 3=

168 BFES 241 it B 36 8| IR 4 ¥ B
54 =AR ofl ENAES 76 £ E 84 & [
ofi H#R ¥ 1062 B ® 16 B =2 1262 B R

X Ef128%(F. BRE~NEL,



